Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
485	Piseno, Alexa	Glacier Precast Concrete	Lower Valley Meats	Lower Valley Meats	241	\$14.50	\$3,494.50	\$34.95	\$104.84	\$139.78
486	Hartle, Matti	Lyman Dust Control of MT, LLC	Glacier Processing Coop	Glacier Processing Coop	262	\$11.00	\$2,882.00	\$28.82	\$86.46	\$115.28
488	Sharp, Isabella	Kalispell Public Schools	Lower Valley Meats	Lower Valley Meats	250	\$10.00	\$2,500.00	\$25.00	\$75.00	\$100.00
489	Lynch, Trenton	Glacier Ace Hardware	Lower Valley Meats	Lower Valley Meats	250	\$20.00	\$5,000.00	\$50.00	\$150.00	\$200.00
490	Aaker, Tyler	Corwin Cheverolet	Farm to Market Pork	Farm to Market Pork	276	\$16.50	\$4,554.00	\$45.54	\$136.62	\$182.16
492	Real, Nicole	Kalispell Public Schools	Lower Valley Meats	Lower Valley Meats	263	\$10.00	\$2,630.00	\$26.30	\$78.90	\$105.20
497	Maykuth, Olivia	Super One Foods of the Flathead Valley	Glacier Processing Coop	Glacier Processing Coop	222	\$11.00	\$2,442.00	\$24.42	\$73.26	\$97.68
498	Libby, Anna	Spoklie's	Glacier Processing Coop	Glacier Processing Coop	234	\$11.50	\$2,691.00	\$26.91	\$80.73	\$107.64
502	Davis, Kinzey	NorthStar Dental	Lower Valley Meats	Lower Valley Meats	270	\$12.50	\$3,375.00	\$33.75	\$101.25	\$135.00
504	Schreckendgust, Macie	Pioneer Heating & Cooling	Lower Valley Meats	Lower Valley Meats	266	\$14.00	\$3,724.00	\$37.24	\$111.72	\$148.96
506	Gerber, Aubree	Corwin Honda	Farm to Market Pork	Farm to Market Pork	251	\$12.00	\$3,012.00	\$30.12	\$90.36	\$120.48
508	Turner, Alissa	Mathew Yarde Construction	Farm to Market Pork	Farm to Market Pork	229	\$13.00	\$2,977.00	\$29.77	\$89.31	\$119.08

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
510	Jensen, Addisyn	Flathead Electric Cooperative	Glacier Processing Coop	Glacier Processing Coop	270	\$11.00	\$2,970.00	\$29.70	\$89.10	\$118.80
513	Flint, Teagen	Ali Boo Farm Inc	Glacier Processing Coop	Glacier Processing Coop	225	\$19.00	\$4,275.00	\$42.75	\$128.25	\$171.00
515	McClatchey, Abbie	406 Builders	Lower Valley Meats	Lower Valley Meats	255	\$12.00	\$3,060.00	\$30.60	\$91.80	\$122.40
520	Todd, Rhaegan	406 Builders	Lower Valley Meats	Lower Valley Meats	263	\$11.50	\$3,024.50	\$30.25	\$90.74	\$120.98
523	Smith, Rook	Radiance Tanning	Lower Valley Meats	Lower Valley Meats	228	\$14.00	\$3,192.00	\$31.92	\$95.76	\$127.68
526	Barone, Manny	Kalispell Kreamery Inc.	Farm to Market Pork	Farm to Market Pork	239	\$12.00	\$2,868.00	\$28.68	\$86.04	\$114.72
527	Lynch, Brooke	Lower Valley Processing	Lower Valley Meats	Lower Valley Meats	281	\$13.00	\$3,653.00	\$36.53	\$109.59	\$146.12
528	Berglund, Wylee	Kalispell Public Schools	Lower Valley Meats	Lower Valley Meats	233	\$9.50	\$2,213.50	\$22.14	\$66.41	\$88.54
530	Hawbaker, Joselyn	Norm's News & Western Outdoor	Resale	Resale	263	\$15.00	\$3,945.00	\$39.45	\$118.35	\$157.80
531	Greene, Tayler	Big Sky Rents	Farm to Market Pork	Farm to Market Pork	253	\$12.50	\$3,162.50	\$31.63	\$94.88	\$126.50
533	Sharp, Serenity	Flathead County Sherriff Employees Association	Lower Valley Meats	Lower Valley Meats	234	\$10.50	\$2,457.00	\$24.57	\$73.71	\$98.28
534	Stoddard, Taryn	Johnsons Funeral Home	Farm to Market Pork	Farm to Market Pork	253	\$11.00	\$2,783.00	\$27.83	\$83.49	\$111.32
535	Braaten, Bentley	M&C Tire	Farm to Market Pork	Farm to Market Pork	270	\$12.00	\$3,240.00	\$32.40	\$97.20	\$129.60

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
537	Braaten, Kase	Doepker Landscape, Inc.	Farm to Market Pork	Farm to Market Pork	269	\$12.00	\$3,228.00	\$32.28	\$96.84	\$129.12
540	Braaten, Coy	CHS Mountain West	Lower Valley Meats	Lower Valley Meats	280	\$12.00	\$3,360.00	\$33.60	\$100.80	\$134.40
544	Braaten, Reid	Three Rivers Bank of MT	Farm to Market Pork	Farm to Market Pork	265	\$11.00	\$2,915.00	\$29.15	\$87.45	\$116.60
545	Sphuler, Emily	Kalispell Toyota	Glacier Processing Coop	Glacier Processing Coop	232	\$10.50	\$2,436.00	\$24.36	\$73.08	\$97.44
548	Sphuler, Katelyn	Northwest Drywall & Roofing Supply	Glacier Processing Coop	Glacier Processing Coop	238	\$10.50	\$2,499.00	\$24.99	\$74.97	\$99.96
550	Martin, Ellie	Sands Surveying, Inc.	Lower Valley Meats	Lower Valley Meats	247	\$10.00	\$2,470.00	\$24.70	\$74.10	\$98.80
553	Banzet, Sophie	Glacier Precast Concrete	Lower Valley Meats	Lower Valley Meats	225	\$10.50	\$2,362.50	\$23.63	\$70.88	\$94.50
555	Martin, Silas	The Brace Place	Glacier Processing Coop	Glacier Processing Coop	237	\$10.00	\$2,370.00	\$23.70	\$71.10	\$94.80
556	Martin, Levi	Stockman Bank	Glacier Processing Coop	Glacier Processing Coop	253	\$11.00	\$2,783.00	\$27.83	\$83.49	\$111.32
557	Cunningham, Eliza	Les Schwab Tire Evergreen	Glacier Processing Coop	Glacier Processing Coop	261	\$10.50	\$2,740.50	\$27.41	\$82.22	\$109.62
561	Pheifer, Aaron	H2 Orthodontics	Lower Valley Meats	Lower Valley Meats	232	\$10.00	\$2,320.00	\$23.20	\$69.60	\$92.80
562	Pheifer, Orion	Sandry Construction Co.	Farm to Market Pork	Farm to Market Pork	257	\$11.00	\$2,827.00	\$28.27	\$84.81	\$113.08

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
563	Pheifer, Jaci	KRose Company	Farm to Market Pork	Farm to Market Pork	265	\$12.50	\$3,312.50	\$33.13	\$99.38	\$132.50
564	Pheifer, Tessa	Flathead Electric Cooperative	Glacier Processing Coop	Glacier Processing Coop	236	\$10.50	\$2,478.00	\$24.78	\$74.34	\$99.12
567	Cunningham, Abby	Mr. Rooter Plumbing	Lower Valley Meats	Lower Valley Meats	277	\$10.00	\$2,770.00	\$27.70	\$83.10	\$110.80
569	Allen, Easton	Hammer Bullets	Lower Valley Meats	Lower Valley Meats	289	\$11.00	\$3,179.00	\$31.79	\$95.37	\$127.16
571	Hall, Emily	Troiano Fence Co	Farm to Market Pork	Farm to Market Pork	244	\$11.00	\$2,684.00	\$26.84	\$80.52	\$107.36
576	Hall, Madisyn	Troiano Fence Co	Farm to Market Pork	Farm to Market Pork	266	\$10.50	\$2,793.00	\$27.93	\$83.79	\$111.72
578	Oedekoven, Colton	Central Valley Animal Hospital	Lower Valley Meats	Lower Valley Meats	282	\$18.00	\$5,076.00	\$50.76	\$152.28	\$203.04
579	Bain, Patience	Three Rivers Bank of MT	Farm to Market Pork	Farm to Market Pork	247	\$8.00	\$1,976.00	\$19.76	\$59.28	\$79.04
580	Druyvestein, Olivia	Northwest Parts & Equipment	Glacier Processing Coop	Glacier Processing Coop	261	\$16.00	\$4,176.00	\$41.76	\$125.28	\$167.04
582	Oedekoven, Kylee	Big Sky Animal Medical Center	Lower Valley Meats	Lower Valley Meats	282	\$16.00	\$4,512.00	\$45.12	\$135.36	\$180.48
583	Bain, Lux	Sands Surveying, Inc.	Farm to Market Pork	Farm to Market Pork	251	\$11.00	\$2,761.00	\$27.61	\$82.83	\$110.44
585	Corrigan, Kadence	Recovery Ctrs of Montana	Farm to Market Pork	Farm to Market Pork	240	\$12.00	\$2,880.00	\$28.80	\$86.40	\$115.20
586	Penhall, Preston	Revel Real Estate	Farm to Market Pork	Farm to Market Pork	277	\$10.00	\$2,770.00	\$27.70	\$83.10	\$110.80

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
588	Cheff, Kiley	Kalispell Toyota	Glacier Processing Coop	Glacier Processing Coop	271	\$9.50	\$2,574.50	\$25.75	\$77.24	\$102.98
590	Reddig, Laci	Spoklie's	Glacier Processing Coop	Glacier Processing Coop	251	\$12.50	\$3,137.50	\$31.38	\$94.13	\$125.50
593	Benson, Dylan	Montana CAD	Lower Valley Meats	Lower Valley Meats	257	\$14.00	\$3,598.00	\$35.98	\$107.94	\$143.92
594	Benson, Tyler	Lodgepole, Inc.	Lower Valley Meats	Lower Valley Meats	246	\$10.50	\$2,583.00	\$25.83	\$77.49	\$103.32
595	Benson, Emily	GPC Inc.	Lower Valley Meats	Lower Valley Meats	261	\$10.00	\$2,610.00	\$26.10	\$78.30	\$104.40
596	Benson, Riley	NorthStar Dental	Lower Valley Meats	Lower Valley Meats	273	\$8.50	\$2,320.50	\$23.21	\$69.62	\$92.82
597	Benson, Wyatt	Hammerquist & Casalegno	Lower Valley Meats	Lower Valley Meats	254	\$10.50	\$2,667.00	\$26.67	\$80.01	\$106.68
604	Kauffman, Lydia	Bigfork Dental Center	Lower Valley Meats	Lower Valley Meats	246	\$10.00	\$2,460.00	\$24.60	\$73.80	\$98.40
611	Rice, Marlee	Blue Moon	Glacier Processing Coop	Glacier Processing Coop	224	\$13.50	\$3,024.00	\$30.24	\$90.72	\$120.96
612	Rice, Camron	Tiffany and David Rehbein	Lower Valley Meats	Lower Valley Meats	252	\$9.50	\$2,394.00	\$23.94	\$71.82	\$95.76
616	Horton Jr., Bradley	The Ranchers Daughter	Farm to Market Pork	Farm to Market Pork	245	\$8.00	\$1,960.00	\$19.60	\$58.80	\$78.40
618	Horton, Taylor	Whitefish Credit Union	Glacier Processing Coop	Glacier Processing Coop	242	\$13.50	\$3,267.00	\$32.67	\$98.01	\$130.68

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
619	Mcintyre, Wesley	Montana CAD	Lower Valley Meats	Lower Valley Meats	240	\$12.00	\$2,880.00	\$28.80	\$86.40	\$115.20
623	Blasdel, Isaac	Northwestern Energy	Glacier Processing Coop	Glacier Processing Coop	284	\$10.00	\$2,840.00	\$28.40	\$85.20	\$113.60
624	Diede, Hollister	Montana Helical Piers	Glacier Processing Coop	Glacier Processing Coop	270	\$13.00	\$3,510.00	\$35.10	\$105.30	\$140.40
626	Diede, Cruz	Montana Helical Piers	Glacier Processing Coop	Glacier Processing Coop	244	\$11.50	\$2,806.00	\$28.06	\$84.18	\$112.24
628	Diede, Callum	Stockman Bank	Glacier Processing Coop	Glacier Processing Coop	248	\$14.00	\$3,472.00	\$34.72	\$104.16	\$138.88
633	Hayek, Teagan	Big Sky Rents	Farm to Market Pork	Farm to Market Pork	277	\$12.00	\$3,324.00	\$33.24	\$99.72	\$132.96
636	Aldrich, Emma	Schellinger Construction	Lower Valley Meats	Lower Valley Meats	252	\$9.50	\$2,394.00	\$23.94	\$71.82	\$95.76
637	Norton, Alex	Pioneer Heating & Cooling	Lower Valley Meats	Lower Valley Meats	234	\$8.00	\$1,872.00	\$18.72	\$56.16	\$74.88
640	Benson, Shianne	Flathead County Sherriff Employees Association	Lower Valley Meats	Lower Valley Meats	242	\$10.50	\$2,541.00	\$25.41	\$76.23	\$101.64
641	St. Jean, Abigail	Corwin Cheverolet	Farm to Market Pork	Farm to Market Pork	234	\$10.50	\$2,457.00	\$24.57	\$73.71	\$98.28
643	St. Jean, Kate	Sandry Construction Co.	Farm to Market Pork	Farm to Market Pork	265	\$11.00	\$2,915.00	\$29.15	\$87.45	\$116.60
644	St. Jean, Claire	Super One Foods of the Flathead Valley	Glacier Processing Coop	Glacier Processing Coop	281	\$7.50	\$2,107.50	\$21.08	\$63.23	\$84.30

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
646	Ball, Liam	James & Heidi Currier	Glacier Processing Coop	Glacier Processing Coop	245	\$11.00	\$2,695.00	\$26.95	\$80.85	\$107.80
648	Daychild, Brody	Northwest Drywall & Roofing Supply	Glacier Processing Coop	Glacier Processing Coop	248	\$10.50	\$2,604.00	\$26.04	\$78.12	\$104.16
649	Labrum, Ella	Lower Valley Processing	Lower Valley Meats	Lower Valley Meats	250	\$11.00	\$2,750.00	\$27.50	\$82.50	\$110.00
654	Newton, James	Diamond Plumbing & Heating, Inc.	Lower Valley Meats	Lower Valley Meats	264	\$9.50	\$2,508.00	\$25.08	\$75.24	\$100.32
655	Newton, Maryann	Leon Holding Company	Lower Valley Meats	Lower Valley Meats	251	\$8.50	\$2,133.50	\$21.34	\$64.01	\$85.34
657	Newton, Miel	Schellinger Construction	Lower Valley Meats	Lower Valley Meats	281	\$9.00	\$2,529.00	\$25.29	\$75.87	\$101.16
659	Mills, Levi	Kalispell Kidds	Farm to Market Pork	Farm to Market Pork	273	\$11.00	\$3,003.00	\$30.03	\$90.09	\$120.12
660	Toren, Brynnlea	Under the Big Sky	Lower Valley Meats	Lower Valley Meats	267	\$13.00	\$3,471.00	\$34.71	\$104.13	\$138.84
662	Gronley, Quindy	Parish Plumbing & Heating	Lower Valley Meats	Lower Valley Meats	254	\$15.00	\$3,810.00	\$38.10	\$114.30	\$152.40
663	Parish, Case	Glacier Bank	Lower Valley Meats	Lower Valley Meats	268	\$15.00	\$4,020.00	\$40.20	\$120.60	\$160.80
668	Willis, Wade	Hammer Bullets	Lower Valley Meats	Lower Valley Meats	252	\$16.00	\$4,032.00	\$40.32	\$120.96	\$161.28
673	Gronley, Raya	Parish Plumbing & Heating	Lower Valley Meats	Lower Valley Meats	247	\$14.50	\$3,581.50	\$35.82	\$107.45	\$143.26
674	Gregg, Charley	T&S Cheff Construction	Lower Valley Meats	Lower Valley Meats	252	\$11.00	\$2,772.00	\$27.72	\$83.16	\$110.88

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
675	Gregg, Carter	SJW Surveying	Lower Valley Meats	Lower Valley Meats	244	\$15.50	\$3,782.00	\$37.82	\$113.46	\$151.28
678	Bartholomew, Cruz	Erik and Brianne Peltz	Glacier Processing Coop	Glacier Processing Coop	276	\$11.00	\$3,036.00	\$30.36	\$91.08	\$121.44
680	Hankinson, Brooke-lynn	South Fork Land Services	Lower Valley Meats	Lower Valley Meats	266	\$18.00	\$4,788.00	\$47.88	\$143.64	\$191.52
681	Hankinson, Brynn	Siderius Construction	Glacier Processing Coop	Glacier Processing Coop	260	\$14.50	\$3,770.00	\$37.70	\$113.10	\$150.80
682	Bartholomew, Jett	Les Schwab Tire Center Street	Farm to Market Pork	Farm to Market Pork	235	\$15.00	\$3,525.00	\$35.25	\$105.75	\$141.00
685	Hinkley, Sydney	Diamond Plumbing & Heating, Inc.	Lower Valley Meats	Lower Valley Meats	281	\$10.50	\$2,950.50	\$29.51	\$88.52	\$118.02
686	Hinkley, Wyatt	Glacier Precast Concrete	Lower Valley Meats	Lower Valley Meats	265	\$10.50	\$2,782.50	\$27.83	\$83.48	\$111.30
690	Roberts, Jace	Watson Excavating Inc	Lower Valley Meats	Lower Valley Meats	260	\$12.00	\$3,120.00	\$31.20	\$93.60	\$124.80
691	Dugan, Colton	D. A. Davidson	Glacier Processing Coop	Glacier Processing Coop	228	\$11.50	\$2,622.00	\$26.22	\$78.66	\$104.88
692	Dugan, Triston	Montana Fence	Lower Valley Meats	Lower Valley Meats	261	\$9.00	\$2,349.00	\$23.49	\$70.47	\$93.96
694	Rehbein, Asher	M&M Landscaping and Design Inc	Lower Valley Meats	Lower Valley Meats	262	\$10.00	\$2,620.00	\$26.20	\$78.60	\$104.80
697	Rehbein, Bristol	Eureka Truss Company Inc	Glacier Processing Coop	Glacier Processing Coop	272	\$13.00	\$3,536.00	\$35.36	\$106.08	\$141.44

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
699	Barone, Joey	Soundseasy Home Technologies	Lower Valley Meats	Lower Valley Meats	282	\$15.00	\$4,230.00	\$42.30	\$126.90	\$169.20
701	Stolfus, Emily	Ed Hankinson Trucking	Farm to Market Pork	Farm to Market Pork	272	\$8.50	\$2,312.00	\$23.12	\$69.36	\$92.48
706	Krueger, Tristan	Northwest Parts & Equipment	Glacier Processing Coop	Glacier Processing Coop	276	\$11.00	\$3,036.00	\$30.36	\$91.08	\$121.44
707	Krueger, Jonathan	Les Schwab Tires- Whitefish	Glacier Processing Coop	Glacier Processing Coop	250	\$10.50	\$2,625.00	\$26.25	\$78.75	\$105.00
711	Boucher, Chiara	Schellinger Construction	Lower Valley Meats	Lower Valley Meats	256	\$13.00	\$3,328.00	\$33.28	\$99.84	\$133.12
714	Boucher, Louis	Glacier Bank	Glacier Processing Coop	Glacier Processing Coop	256	\$13.00	\$3,328.00	\$33.28	\$99.84	\$133.12
716	Sutton, Ryker	Valley Bank of Kalispell	Farm to Market Pork	Farm to Market Pork	256	\$8.50	\$2,176.00	\$21.76	\$65.28	\$87.04
717	Hagadone, Trevor	Weyerhauser	Glacier Processing Coop	Glacier Processing Coop	279	\$10.50	\$2,929.50	\$29.30	\$87.89	\$117.18
719	Hagadone, Trevalion	Flathead Surveys	Farm to Market Pork	Farm to Market Pork	261	\$8.00	\$2,088.00	\$20.88	\$62.64	\$83.52
721	Evenson, McKenlee	Glacier Bank	Lower Valley Meats	Lower Valley Meats	249	\$13.00	\$3,237.00	\$32.37	\$97.11	\$129.48
722	Hagadone-polly, Tracy	Lodgepole, Inc.	Lower Valley Meats	Lower Valley Meats	274	\$8.50	\$2,329.00	\$23.29	\$69.87	\$93.16
723	Baldwin, Korbin	ZJD Design Inc	Glacier Processing Coop	Glacier Processing Coop	288	\$8.00	\$2,304.00	\$23.04	\$69.12	\$92.16

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
728	Miner, Dawson	Kalispell Toyota	Glacier Processing Coop	Glacier Processing Coop	236	\$13.00	\$3,068.00	\$30.68	\$92.04	\$122.72
730	Miner, Brooke	Super One Foods of the Flathead Valley	Glacier Processing Coop	Glacier Processing Coop	222	\$11.00	\$2,442.00	\$24.42	\$73.26	\$97.68
731	Holmes, Autumn	Kalispell Electric Inc.	Glacier Processing Coop	Glacier Processing Coop	280	\$8.00	\$2,240.00	\$22.40	\$67.20	\$89.60
732	Holmes, Elizabeth	Whitefish Credit Union	Glacier Processing Coop	Glacier Processing Coop	257	\$10.50	\$2,698.50	\$26.99	\$80.96	\$107.94
733	Holmes, Abner	The Brace Place	Glacier Processing Coop	Glacier Processing Coop	271	\$8.00	\$2,168.00	\$21.68	\$65.04	\$86.72
734	Davidson, Ryan	Western Building Center	Resale	Resale	253	\$11.50	\$2,909.50	\$29.10	\$87.29	\$116.38
737	Carter, Brantley	Hill Brothers Auto Body	Lower Valley Meats	Lower Valley Meats	228	\$13.50	\$3,078.00	\$30.78	\$92.34	\$123.12
738	Wathan, Jarret	LHC Inc.	Glacier Processing Coop	Glacier Processing Coop	245	\$10.50	\$2,572.50	\$25.73	\$77.18	\$102.90
740	Wathan, Justin	Flathead Surveys	Farm to Market Pork	Farm to Market Pork	273	\$10.50	\$2,866.50	\$28.67	\$86.00	\$114.66
742	Lindberg, Landon	Americas A to Z Consulting, Inc	Lower Valley Meats	Lower Valley Meats	250	\$12.50	\$3,125.00	\$31.25	\$93.75	\$125.00
745	Harvey, Bryce	Hammer Bullets	Lower Valley Meats	Lower Valley Meats	289	\$10.50	\$3,034.50	\$30.35	\$91.04	\$121.38

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
747	Cook, Ava	Kalispell Toyota	Glacier Processing Coop	Glacier Processing Coop	225	\$13.00	\$2,925.00	\$29.25	\$87.75	\$117.00
750	Mcintyre, Jayden	CMG Engineering, Inc.	Farm to Market Pork	Farm to Market Pork	252	\$11.00	\$2,772.00	\$27.72	\$83.16	\$110.88
754	Mcintyre, Cabella	Cold Stone Creamery	Farm to Market Pork	Farm to Market Pork	245	\$11.00	\$2,695.00	\$26.95	\$80.85	\$107.80
755	Wolff, Jaxson	Mission Fiber	Farm to Market Pork	Farm to Market Pork	262	\$10.00	\$2,620.00	\$26.20	\$78.60	\$104.80
756	Wirth, Jubal A	Schellinger Construction	Lower Valley Meats	Lower Valley Meats	239	\$8.50	\$2,031.50	\$20.32	\$60.95	\$81.26
759	Crofts, Joslyn	Land Tech Landscaping	Lower Valley Meats	Lower Valley Meats	265	\$12.00	\$3,180.00	\$31.80	\$95.40	\$127.20
761	Rose, Harper	Kalispell Kreamery Inc.	Farm to Market Pork	Farm to Market Pork	239	\$13.00	\$3,107.00	\$31.07	\$93.21	\$124.28
763	Wirth, Chloe C	Columbia Falls Murdoch's	Resale	Resale	247	\$9.00	\$2,223.00	\$22.23	\$66.69	\$88.92
764	Dowler, Evelyn	Lodgepole, Inc.	Lower Valley Meats	Lower Valley Meats	221	\$11.50	\$2,541.50	\$25.42	\$76.25	\$101.66
767	Wirth, Cecilia E	Columbia Property Services	Glacier Processing Coop	Glacier Processing Coop	253	\$8.00	\$2,024.00	\$20.24	\$60.72	\$80.96
769	Morris, Jenna	Measure Law LLC & CHS Mountain West	Lower Valley Meats	Lower Valley Meats	264	\$13.50	\$3,564.00	\$35.64	\$106.92	\$142.56
770	Hunter, Logan	Hammer Bullets	Lower Valley Meats	Lower Valley Meats	268	\$15.00	\$4,020.00	\$40.20	\$120.60	\$160.80
772	Hunter, Carson	Hammerquist & Casalegno	Lower Valley Meats	Lower Valley Meats	257	\$14.50	\$3,726.50	\$37.27	\$111.80	\$149.06

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
774	Fritz, Martin	CHS Mountain West	Lower Valley Meats	Lower Valley Meats	240	\$12.50	\$3,000.00	\$30.00	\$90.00	\$120.00
776	Ottosen, Renny	FH Stoltze Land & Lumber Co.	Glacier Processing Coop	Glacier Processing Coop	264	\$12.00	\$3,168.00	\$31.68	\$95.04	\$126.72
777	Ottosen, Torin	Pin & Cue	Farm to Market Pork	Farm to Market Pork	257	\$10.00	\$2,570.00	\$25.70	\$77.10	\$102.80
779	Ottosen, Camden	Intergrity Property Management	Lower Valley Meats	Lower Valley Meats	265	\$11.00	\$2,915.00	\$29.15	\$87.45	\$116.60
784	Heino, Lander	Mr. Rooter Plumbing	Lower Valley Meats	Lower Valley Meats	264	\$12.00	\$3,168.00	\$31.68	\$95.04	\$126.72
785	Dyer, Jacob	Flathead Concrete Products	Lower Valley Meats	Lower Valley Meats	231	\$12.50	\$2,887.50	\$28.88	\$86.63	\$115.50
787	Manning, Kellan	Swank Enterprises	Lower Valley Meats	Lower Valley Meats	262	\$11.50	\$3,013.00	\$30.13	\$90.39	\$120.52
788	Manning, Danny	Glacier Dental Group, PC	Lower Valley Meats	Lower Valley Meats	245	\$14.00	\$3,430.00	\$34.30	\$102.90	\$137.20
791	Eichner, Sally	Logan Health Medical Center	Glacier Processing Coop	Glacier Processing Coop	251	\$11.00	\$2,761.00	\$27.61	\$82.83	\$110.44
792	Eichner, Conrad	Montana Dental Works	Glacier Processing Coop	Glacier Processing Coop	277	\$8.00	\$2,216.00	\$22.16	\$66.48	\$88.64
793	Ochenrider, Victoria	Northwest Drywall & Roofing Supply	Glacier Processing Coop	Glacier Processing Coop	247	\$13.00	\$3,211.00	\$32.11	\$96.33	\$128.44
794	Ochenrider, Sophia	Kalispell Kidds	Farm to Market Pork	Farm to Market Pork	271	\$12.00	\$3,252.00	\$32.52	\$97.56	\$130.08

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
796	Ochenrider, Alaina	Corwin Cheverolet	Farm to Market Pork	Farm to Market Pork	242	\$11.50	\$2,783.00	\$27.83	\$83.49	\$111.32
798	Ochenrider, Samuel	Les Schwab Tire Center Street	Glacier Processing Coop	Glacier Processing Coop	275	\$10.00	\$2,750.00	\$27.50	\$82.50	\$110.00
800	Chentnik, Abraham	SCHLEGEL ENTERPRISE	Glacier Processing Coop	Glacier Processing Coop	250	\$10.00	\$2,500.00	\$25.00	\$75.00	\$100.00
803	Miller, Finn	Big Sky Pediatric Dentistry	Lower Valley Meats	Lower Valley Meats	252	\$15.50	\$3,906.00	\$39.06	\$117.18	\$156.24
808	Ervin, William	KRose Company	Farm to Market Pork	Farm to Market Pork	262	\$9.50	\$2,489.00	\$24.89	\$74.67	\$99.56
810	Peters, Brady	Wilkinson Construction	Glacier Processing Coop	Glacier Processing Coop	252	\$13.00	\$3,276.00	\$32.76	\$98.28	\$131.04
812	Peters, Madison	Trail West Bank	Glacier Processing Coop	Glacier Processing Coop	245	\$13.00	\$3,185.00	\$31.85	\$95.55	\$127.40
813	Gardner, Walter	Kalispell Ford	Glacier Processing Coop	Glacier Processing Coop	273	\$13.00	\$3,549.00	\$35.49	\$106.47	\$141.96
814	Gardner, Charlie	Sliters Lumber & Building Supply	Lower Valley Meats	Lower Valley Meats	235	\$12.50	\$2,937.50	\$29.38	\$88.13	\$117.50
815	Gardner, Norman	HUB International - Bobby Pfennigs	Lower Valley Meats	Lower Valley Meats	232	\$13.50	\$3,132.00	\$31.32	\$93.96	\$125.28
817	Hook, Millie	Kalispell Volkswagon	Glacier Processing Coop	Glacier Processing Coop	225	\$14.00	\$3,150.00	\$31.50	\$94.50	\$126.00

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
820	Dezort, Braylee	Rob Giles Electric	Lower Valley Meats	Lower Valley Meats	239	\$12.00	\$2,868.00	\$28.68	\$86.04	\$114.72
822	Clouse, Autumn	GPC Inc.	Lower Valley Meats	Lower Valley Meats	253	\$13.00	\$3,289.00	\$32.89	\$98.67	\$131.56
824	Valdespino, Phinney	The Ranchers Daughter	Farm to Market Pork	Farm to Market Pork	243	\$9.00	\$2,187.00	\$21.87	\$65.61	\$87.48
825	Valdespino, Faye	Kalispell Murdoch's	Resale	Resale	221	\$9.50	\$2,099.50	\$21.00	\$62.99	\$83.98
827	Heuscher, Beckett	M&C Tire	Glacier Processing Coop	Glacier Processing Coop	231	\$11.00	\$2,541.00	\$25.41	\$76.23	\$101.64
828	Heuscher, Kensley	Crone Pro Seal	Lower Valley Meats	Lower Valley Meats	224	\$11.50	\$2,576.00	\$25.76	\$77.28	\$103.04
830	Davis, Cruz	Pavement Maintenance Solutions	Lower Valley Meats	Lower Valley Meats	266	\$12.50	\$3,325.00	\$33.25	\$99.75	\$133.00
832	Glimm, Ariannah	Montana Fence	Lower Valley Meats	Lower Valley Meats	251	\$9.00	\$2,259.00	\$22.59	\$67.77	\$90.36
835	Rash, Isabelle	Lyman Dust Control of MT, LLC	Glacier Processing Coop	Glacier Processing Coop	233	\$11.50	\$2,679.50	\$26.80	\$80.39	\$107.18
836	Wagar, Taytton	Kalispell Electric Inc.	Glacier Processing Coop	Glacier Processing Coop	276	\$13.50	\$3,726.00	\$37.26	\$111.78	\$149.04
839	Sorensen, Sawyer	Les Schwab Tire Columbia Falls	Glacier Processing Coop	Glacier Processing Coop	229	\$12.00	\$2,748.00	\$27.48	\$82.44	\$109.92
841	Ypma, Silas	Hill Brothers Auto Body	Farm to Market Pork	Farm to Market Pork	249	\$17.00	\$4,233.00	\$42.33	\$126.99	\$169.32

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
842	Ypma, Clive	Stebbins Dental Studio	Lower Valley Meats	Lower Valley Meats	260	\$14.50	\$3,770.00	\$37.70	\$113.10	\$150.80
843	Ypma, Levi	Hammerquist & Casalegno	Lower Valley Meats	Lower Valley Meats	234	\$13.00	\$3,042.00	\$30.42	\$91.26	\$121.68
846	Martin, Olivia	The Homestead	Farm to Market Pork	Farm to Market Pork	231	\$19.00	\$4,389.00	\$43.89	\$131.67	\$175.56
851	Mcquade, Cara	Harlyn Jean Machining	Glacier Processing Coop	Glacier Processing Coop	266	\$19.00	\$5,054.00	\$50.54	\$151.62	\$202.16
855	Dezort, Brekken	Rob Giles Electric	Lower Valley Meats	Lower Valley Meats	222	\$10.00	\$2,220.00	\$22.20	\$66.60	\$88.80
859	Benson, Kindi	Kalispell Ford	Glacier Processing Coop	Glacier Processing Coop	247	\$12.00	\$2,964.00	\$29.64	\$88.92	\$118.56
860	Wirth, Zoey R	Les Schwab Tire Columbia Falls	Glacier Processing Coop	Glacier Processing Coop	258	\$9.00	\$2,322.00	\$23.22	\$69.66	\$92.88
861	Crofts, Jase	CMW LLC	Glacier Processing Coop	Glacier Processing Coop	231	\$8.00	\$1,848.00	\$18.48	\$55.44	\$73.92
873	Zemacke, Isabel	Leon Holding Company	Lower Valley Meats	Lower Valley Meats	223	\$14.00	\$3,122.00	\$31.22	\$93.66	\$124.88
883	Braaten, Sadie	H2 Orthodontics	Lower Valley Meats	Lower Valley Meats	280	\$12.00	\$3,360.00	\$33.60	\$100.80	\$134.40
Avg: \$11.74 Min: \$7.50 Max: \$20.00					Total:	\$535,733.00	\$5,357.47	\$16,072.13	\$21,429.32	